BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES TO SERVE SPRING CREEK TRAILS PONDS A.1 & A.2 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 159 MONTGOMERY COUNTY, TEXAS NOVEMBER 19, 2024 LJA ENGINEERING, INC. A.CAROTHERS NOVEMBER 20, 2024 2022-2105 (9.2) TOTAL AMOUNT BID

BIDDER'S NAME

1) KEAN CONSTRUCTION LLC	\$1,669,361.00
2) NORTHTEX CONSTRUCTION, LLC	\$2,478,103.08
3) ENVIRONMENTAL ALLIES	\$2,595,591.50
4) NORTH HOUSTON TANDEM, INC.	\$2,729,783.15

CALENDAR DAYS 90/105



I, Micah Kreikemeier, PE, hereby certify these bid tabulations to be true and correct.

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.					Y MUNICIPAL UTILITY DIS	TO SERVE SPRING CREI STRICT NO. 159	EK TRAILS PONDS A.1 (\$ A.2	
				1) KEAN CONST	RUCTION LLC	2) NORTHTEX CONS	STRUCTION, LLC	3) ENVIRONMEN	ITAL ALLIES
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
POND A-2 ITEMS									
TRUCKS, (0-0.5 MILE) PLACEMENT AND CO	ATERIAL TO DESIGNATED DISPOSAL SITE, USING ON ROAD , INCLUDES STRIPPING, STOCKPILING STRIPPINGS, MPACTION TO 95% STANDARD PROCTOR DENSITY, WITH ND RE-APPLICATION OF STRIPPING TO FINAL GRADED PLACE	CY	74615	\$7.00	\$522,305.00	\$7.89	\$588,712.35	\$22.00	\$1,641,530.00
(0.5-1.0 MILE), INCLUE AND COMPACTION TO	ATERIAL TO DESIGNATED DISPOSAL SITE, USING ON ROAD, DES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT O 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" CATION OF STRIPPINGS TO FINAL GRADED AREA,	CY	2000	\$9.00	\$18,000.00	\$7.55	\$15,100.00	\$22.00	\$44,000.00
	ONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING DEPTHS, COMPLETE IN PLACE, COMPLETE IN PLACE	LF	42	\$555.00	\$23 ,310 .00	\$325.81	\$13,684.02	\$265.00	\$11,130.00
	DNCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING DEPTHS, COMPLETE IN PLACE	LF	27	\$555.00	\$14,985.00	\$325.81	\$8,796.87	\$285.00	\$7,695.00
5 7" CONCRETE SEAL S	SLAB FOR BOX CULVERT, COMPLETE IN PLACE	LF	69	\$27.00	\$1,863.00	\$58.65	\$4,046.85	\$16.50	\$1,138.50
TOE ALL AROUND, 2' BELOW NORMAL WA	RETE BOX CULVERT OUTFALL STRUCTURE, INCLUDES 2' CLAY LINER BELOW ALL SLOPE PAVING, 4:1 S.E.T., 2' TER SURFACE ELEVATION PER DETAIL, INCLUDES 4" AVING, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$11,700.00	\$11,700.00	\$44,627.74	\$44,627.74	\$7,500.00	\$7,500.00
TOE ALL ROUND, 2' C	RETE BOX CULVERT OUTFALL STRUCTURE, INCLUDES 2' CLAY LINER BELOW ALL SLOPE PAVING, ALL SIZES, AND 3:1 CONCRETE SLOPE PAVING, ALL DEPTHS, COMPLETE IN	EA	1	\$11,700.00	\$11,700.00	\$16,702.47	\$16,702.47	\$7,500.00	\$7,500.00
	RETE CONCRETE STORM SEWER JUNCTION BOX WITH RETE TYPE "C"MANHOLE TOP, INCLUDES ADJUSTMENTS, ALL IN PLACE	EA	1	\$11,700.00	\$11,700.00	\$16,591.74	\$16,591.74	\$8,200.00	\$8,200.00
9 18" THICK CONCRETE PLACE	E RIP RAP, INCLUDES GEOXTEXTILE FABRIC, COMPLETE IN	SY	89	\$121.00	\$10,769.00	\$170.35	\$15,161.15	\$100.00	\$8,900.00
STRIPPINGS, STOCKI	RADING OF EMERGENCY OVERFLOW, INCLUDES PILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% R DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION IPLETE IN PLACE	CY	290	\$4.00	\$1,160.00	\$19.99	\$5,797.10	\$3.00	\$870.00
STOCKPILING STRIPP	EPTOR SWALE, INCLUDES EXCAVATION, STRIPPING, PINGS, PLACEMENT AND COMPACTION TO 95% STANDARD , WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF ETE IN PLACE	LF	1669	\$5.00	\$8,345.00	\$6.12	\$10,214.28	\$3.00	\$5,007.00
	EPTOR AND OUTFALL STRUCTURE, INCLUDES 24" CMPG, CTURE, AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	3	\$15,500.00	\$46,500.00	\$25,342.78	\$76,028.34	\$10,000.00	\$30,000.00
13 4" REINFORCED CON COMPLETE IN PLACE	CRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND,	SY	100	\$133.00	\$13,300.00	\$187.52	\$18,752.00	\$95.00	\$9,500.00
INCLUDES CONVENT PUMPS, OR ANY TYP	NTROL TO COMPLETE THE CONSTRUCTION OF THE PONDS, IONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND E OF PUMPING AS NECESSARY TO COMPLETE IN PLACE OF THE PROJECT, (AS DIRECTED BY ENGINEER),	AC	4	\$3,000.00	\$12,000.00	\$11,147.01	\$44,588.04	\$1,500.00	\$6,000.00
15 DEWATERING FOR S DEPTHS, COMPLETE	TORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL IN PLACE	LF	171	\$40.00	\$6,840.00	\$40.00	\$6,840.00	\$40.00	\$6,840.00

BID C BID C TABU TABU	ABULATION FOR: PENING DATE: PENING LOCATION: LATION BY: LATION DATE: OB NO.			CONSTRUCTION OF TH MONTGOMERY COUNT MONTGOMERY COUNT NOVEMBER 19, 2024 LJA ENGINEERING, INC A.CAROTHERS NOVEMBER 20, 2024 2022-2105 (9.2)	Y MUNICIPAL UTILITY E Y, TEXAS	S TO SERVE SPRING CRE DISTRICT NO. 159	EK TRAILS PONDS A.1 (& A.2	
				1) KEAN CONST	RUCTION LLC	2) NORTHTEX CONS	STRUCTION, LLC	3) ENVIRONME	ITAL ALLIES
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
16	BACKSLOPE INTERCEPTOR AND OUTFALL STRUCTURE, INCLUDES 24" CMPG, INTERCEPTOR STRUCTURE, AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	3	\$1.00	\$3.00	\$27,469.50	\$82,408.50	\$10,000.00	\$30,000.00
PON	D A-2 ITEMS SUBTOTAL:				\$714,480.00		\$968,051.45		\$1,825,810.50
PONL	A-1 BID ITEMS								
1	HAUL EXCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING OFF ROAD TRUCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	66175	\$4.00	\$264,700.00	\$7.90	\$522,782.50	\$3.00	\$198,525.00
2	18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	223	\$123.00	\$27,429.00	\$170.24	\$37,963.52	\$100.00	\$22,300.00
3	BACKSLOPE INTERCEPTOR SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENTSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1792	\$5.00	\$8,960.00	\$8.13	\$14,568.96	\$3.00	\$5,376.00
4	BACKSLOPE INTERCEPTOR AND OUTFALL STRUCTURE, INCLUDES 24" CMPG, INTERCEPTOR STRUCTURE, AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	3	\$15,500.00	\$46,500.00	\$23,908.54	\$71,725.62	\$10,000.00	\$30,000.00
5	GROUND WATER CONTROL TO COMPLETE THE CONSTRUCTION OF THE PONDS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE IN PLACE THE CONSTRUCTION OF THE PROJECT, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	5.4	\$2,200.00	\$11,880.00	\$11,087.85	\$59,874.39	\$1,500.00	\$8,100.00
6	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	142	\$1.00	\$142.00	\$22.15	\$3,145.30	\$40.00	\$5,680.00
7	30' DEPTH SHEET PILE STRUCTURE (AZ26-700 OR APPROVED EQUAL), ASTM A- 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, COMPLETE IN PLACE	EA	31	\$6,400.00	\$198,400.00	\$7,957.63	\$246,686.53	\$5,850.00	\$181,350.00
8	40' DEPTH SHEET PILE STRUCTURE (AZ50-700 OR APPROVED EQUAL), ASTM A- 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, COMPLETE IN PLACE	EA	29	\$9,300.00	\$269,700.00	\$16,151.52	\$468,394.08	\$3,850.00	\$111,650.00
	FURNISH AND INSTALL OPENING REINFORCING ASSEMBLY, TO INCLUDE C9X15 CHANNEL AND PLATES, ASTM A36, #10 ALL THREADS BARS, ASTM A615 GRADE 75 WITH HEAVY HEX NUTS AND WASHER, HOT DIP GALVANIZING AFTER FABRICATION, COMPLETE IN PLACE	LF	110	\$277.00	\$30,470.00	\$232.48	\$25,572.80	\$910.00	\$100,100.00
10	MOBILIZATION, COMPLETE N PLACE	LS	1	\$77,000.00	\$77,000.00	\$40,171.33	\$40,171.33	\$100,000.00	\$100,000.00
11	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ITEMS NOT SPECIFICALLY LISTED IN BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$7,700.00	\$7,700.00	\$3,661.62	\$3,661.62	\$5,000.00	\$5,000.00
12	CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF SHEET PILES, INCLUDES DEWATERING AND ALL APPURTENANCES (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$8,654.57	\$8,654.57	\$1,000.00	\$1,000.00
13	BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DAM INTO EXISTING TRIBUTARY, 24 HRS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	DAY	7	\$1,000.00	\$7,000.00	\$978.63	\$6,850.41	\$100.00	\$700.00
PONE	A-1 BID ITEMS SUBTOTAL:				\$954,881.00		\$1,510,051.63		\$769,781.00
BIDDI	NG SUMMARY								

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.					Y MUNICIPAL UTILITY DIS 7, TEXAS		REEK TRAILS PONDS A.1 & J	A.2	
				1) KEAN CONST	RUCTION LLC	2) NORTHTEX CO	ONSTRUCTION, LLC	3) ENVIRONME	NTAL ALLIES
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SUBTOTAL POND A-2 ITEMS					\$714,480.00		\$968,051.45		\$1,825,810.50
SUBTOTAL POND A-1 BID ITEMS					\$954,881.00		\$1,510,051.63		\$769,781.00
TOTAL AMOUNT BASE BID					\$1,669,361.00		\$2,478,103.08		\$2,595,591.50
		C							

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		N M L A. N		Y MUNICIPAL UTILITY D Y, TEXAS	S TO SERVE SPRING CREEK TRAILS PONDS A.1 & A.2 ISTRICT NO. 159
			4) NORTH HOUSTC	N TANDEM, INC.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
POND A-2 ITEMS					
1 HAUL EXCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING ON ROAD TRUCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	74615	\$3.60	\$268,614.00	
2 HAUL EXCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING ON ROAD, (0.5-1.0 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	2000	\$4.60	\$9,200.00	
3 2'X2' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE, COMPLETE IN PLACE	LF	42	\$500.00	\$21,000.00	
4 3'X2 REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	27	\$500.00	\$13,500.00	
5 7" CONCRETE SEAL SLAB FOR BOX CULVERT, COMPLETE IN PLACE	LF	69	\$90.00	\$6,210.00	
6 REINFORCED CONCRETE BOX CULVERT OUTFALL STRUCTURE, INCLUDES 2' TOE ALL AROUND, 2' CLAY LINER BELOW ALL SLOPE PAVING, 4:1 S.E.T., 2' BELOW NORMAL WATER SURFACE ELEVATION PER DETAIL, INCLUDES 4" CONCRETE SLOPE PAVING, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$22,350.00	\$22,350.00	
7 REINFORCED CONCRETE BOX CULVERT OUTFALL STRUCTURE, INCLUDES 2' TOE ALL ROUND, 2' CLAY LINER BELOW ALL SLOPE PAVING, ALL SIZES, AND 3:1 S.E.T., INCLUDES 4" CONCRETE SLOPE PAVING, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$22,350.00	\$22,350.00	
8 REINFORCED CONCRETE CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "C"MANHOLE TOP, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$7,500.00	\$7,500.00	
9 18" THICK CONCRETE RIP RAP, INCLUDES GEOXTEXTILE FABRIC, COMPLETE IN PLACE	SY	89	\$127.45	\$11,343.05	
10 EXCAVATION AND GRADING OF EMERGENCY OVERFLOW, INCLUDES STRIPPINGS, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	290	\$13.55	\$3,929.50	
11 BACKSLOPE INTERCEPTOR SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENTSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1669	\$8.70	\$14,520.30	
12 BACKSLOPE INTERCEPTOR AND OUTFALL STRUCTURE, INCLUDES 24" CMPG, INTERCEPTOR STRUCTURE, AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	3	\$13,000.00	\$39,000.00	
13 4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	100	\$75.00	\$7,500.00	
14 GROUND WATER CONTROL TO COMPLETE THE CONSTRUCTION OF THE PONDS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE IN PLACE THE CONSTRUCTION OF THE PROJECT, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	4	\$65,000.00	\$260,000.00	
15 DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALI DEPTHS, COMPLETE IN PLACE	. LF	171	\$40.00	\$6,840.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		MC NO LJA A.C NO	NSTRUCTION OF THE DNTGOMERY COUNTY NTGOMERY COUNTY VEMBER 19, 2024 A ENGINEERING, INC. CAROTHERS VEMBER 20, 2024 22-2105 (9.2)	Y MUNICIPAL UTILITY	IS TO SERVE SPRING CREEK TRAILS PONDS A.1 & A.2 DISTRICT NO. 159
		202			
			4) NORTH HOUSTO		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
16 BACKSLOPE INTERCEPTOR AND OUTFALL STRUCTURE, INCLUDES 24* CMPG, INTERCEPTOR STRUCTURE, AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	3	\$13,000.00	\$39,000.00	
POND A-2 ITEMS SUBTOTAL:				\$752,856.85	
POND A-1 BID ITEMS					
1 HAUL EXCAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING OFF ROAD TRUCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	66175	\$3.50	\$231,612.50	
2 18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	223	\$131.20	\$29,257.60	
3 BACKSLOPE INTERCEPTOR SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENTSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1792	\$8.10	\$14 ,515.20	
4 BACKSLOPE INTERCEPTOR AND OUTFALL STRUCTURE, INCLUDES 24" CMPG, INTERCEPTOR STRUCTURE, AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	3	\$13,000.00	\$39,000.00	
5 GROUND WATER CONTROL TO COMPLETE THE CONSTRUCTION OF THE PONDS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE IN PLACE THE CONSTRUCTION OF THE PROJECT, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	5.4	\$6 5,000.00	\$351,000.00	
6 DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	142	\$20.00	\$2,840.00	
7 30' DEPTH SHEET PILE STRUCTURE (AZ26-700 OR APPROVED EQUAL), ASTM A- 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, COMPLETE IN PLACE	EA	31	\$6,350.00	\$196,850.00	
8 40' DEPTH SHEET PILE STRUCTURE (AZ50-700 OR APPROVED EQUAL), ASTM A- 572, GRADE 50 STEEL WITH 16 MIL MINIMUM DRY FILM THICKNESS (DFT) COAL TAR EPOXY FOR THE TOP HALF AND ON BOTH SIDES OF SHEET PILE, COMPLETE IN PLACE	EA	29	\$33,763.00	\$979,127.00	
9 FURNISH AND INSTALL OPENING REINFORCING ASSEMBLY, TO INCLUDE C9X15 CHANNEL AND PLATES, ASTM A36, #10 ALL THREADS BARS, ASTM A615 GRADE 75 WITH HEAVY HEX NUTS AND WASHER, HOT DIP GALVANIZING AFTER FABRICATION, COMPLETE IN PLACE	LF	110	\$682.00	\$75,020.00	
10 MOBILIZATION, COMPLETE N PLACE	LS	1	\$22,335.00	\$22,335.00	
11 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ITEMS NOT SPECIFICALLY LISTED IN BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,600.00	\$2,600.00	
12 CONSTRUCTION AND REMOVAL OF TEMPORARY COFFER DAM FOR THE CONSTRUCTION OF SHEET PILES, INCLUDES DEWATERING AND ALL APPURTENANCES (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$28,219.00	\$28,219.00	
13 BYPASS PUMPING OF WATER FROM TEMPORARY COFFER DAM INTO EXISTING TRIBUTARY, 24 HRS (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	DAY	7	\$650.00	\$4,550.00	
POND A-1 BID ITEMS SUBTOTAL:				\$1,976,926.30	
BIDDING SUMMARY					

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.					Y MUNICIPAL UTILITY DISTRI 7, TEXAS	SERVE SPRING CREEK TRAILS PONDS A.1 & A.2 CT NO. 159
				4) NORTH HOUSTON	N TANDEM, INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
SUBTOTAL POND A-2 ITEMS					\$752,856.85	
SUBTOTAL POND A-1 BID ITEMS					\$1,976,926.30	
TOTAL AMOUNT BASE BID					\$2,729,783.15	